
Tree 17

Use this map to find the common ancestor of any two families and hence their relationship to one
another. If the common ancestor is N generations earlier than the earlier of the two families, then
they are (N-1)th cousins -- possibly removed by a number of generations. For example:

- The families 1837 & 1820 have the common ancestor 0463, three generations earlier.
So the heads of 1837 and 1820 are second cousins.

- The families 1837 & 0883 also have the common ancestor 0463, three generations before 1837
But they themselves are removed by one generation. So the heads of 1837 & 0883 are
second cousins once removed.

1 2 3 4 5 6 7 8 9 10
0482 ┬ 0480 ┬ 0463 ┬ 1285 ─ 0078 ─ 1837

│ │ ├ 1037
│ │ ├ 0630 ─ 0028 ┬ 1820
│ │ │ ├ 1051 ─ 0883
│ │ │ ├ 0267
│ │ │ └ 1777 ─ 1148 ─ 1924 ─ 2394
│ │ └ 1819 ┬ 0127 ┬ 2381
│ │ │ ├ 1348
│ │ │ └ 0250 ─ 1073 ─ 2440 ┬ 2351 ─ 0322
│ │ │ └ 0961
│ │ ├ 0030 ┬ 0267
│ │ │ ├ 0410 ─ 1262 ┬ 1709 ─ 1697
│ │ │ │ └ 1694 ─ 1703
│ │ │ ├ 0467 ─ 1769 ┬ 1707 ┬ 0774
│ │ │ │ │ └ 1708
│ │ │ │ └ 1693
│ │ │ └ 1471 ─ 0663
│ │ └ 0056 ┬ 0853 ┬ 0847 ┬ 1760
│ │ │ │ └ 2485
│ │ │ └ 1142 ─ 1897
│ │ ├ 2309
│ │ ├ 2308 ┬ 1560
│ │ │ └ 1097
│ │ └ 2483
│ ├ 0734 ┬ 0630 ─ 0028 ┬ 1820
│ │ │ ├ 1051 ─ 0883
│ │ │ ├ 0267
│ │ │ └ 1777 ─ 1148 ─ 1924 ─ 2394
│ │ └ 0155 ┬ 0739 ─ 2362 ┬ 1586 ─ 1958 ─ 1350
│ │ │ └ 0613 ─ 2419 ─ 0615 ─ 0306
│ │ ├ 0365 ┬ 0425
│ │ │ └ 0378 ─ 0971 ─ 0675
│ │ └ 0360 ┬ 0308 ┬ 0807 ┬ 1808 ┬ 1879
│ │ │ │ │ └ 1880
│ │ │ │ └ 1810 ─ 1875
│ │ │ ├ 0849
│ │ │ └ 0832 ─ 0896 ┬ 1870
│ │ │ └ 1848
│ │ └ 0213 ┬ 1552 ┬ 2486
│ │ │ └ 1811
│ │ ├ 1812
│ │ ├ 1813 ┬ 2446
│ │ │ └ 2487
│ │ └ 1814 ─ 2488
│ ├ 0633
│ └ 0147
├ 0271 ─ 0147
└ 1628 ┬ 1632

└ 1992


